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Cluster: 0144 ptr; resid: 0.19; r/c: 25/81

x.range

upstream meme PSSM #1; e=0.62

1 3 5 7 9 11 131 3 5 7 9 11 13

x.range

y.
ra
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e

upstream meme PSSM #2; e=1.8e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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34953NA
44905−0.02
43046−0.03
47846−0.12
11311−0.17
31453−0.44
42743−0.65

8598−0.81
21410−1.63
14639−1.83
34868−1.85
43667−2.04
45432−2.22

8678−2.25
45254−2.65
32938−3.53
34790−3.55

9185−3.84
35151−3.99
42677−4.31
43775−4.34
42591−5.16
44333−5.34
49355−7.58
50345−7.58

log10(P) upstream meme1 2 log10(P.clust)=−2.75; 25 seqs; 25 uniq
c(0.5, 2.5)
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